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& A 20t ETH[ 5578 ] ERI ook EH2 kS JE[)L—7F—L
001 [FH] ZFth TIVF 4% 6] 1|OJAC [ioom exom 13.07 # [8OmHZE 12.05

002 |0 BX 19'F hvh 5 1{OJAC [ioom szom 15.20

003 (&% fn ERVIDLTY 6] 1|OJAC [ioom ezom 13.68

004 AR = 9F¥Y ¥a9y7| 6] 1]OJAC  |ioom exoum 13.74

005 |AILESL TS [MWIL TV 6] 1J]OJAC [ioom ezom 13.92 #

006 |ALL &= 9Fvv 19y [ 6] 1|OJAC |ioom exom 14.06 ¥

007 |#5K FHX ARE Va4 6] 1|oJAC |ESBk 1.35 m

008 [B HEX N7 ¥1% 6] 1[OJAC |EmEBk 441 m

009 (&7 WiE IVE) TR 6] 1[odAC [EmaRk 422 m

010 |¥R IB:A 35ng Yy 5 1[iTF 100m SEOH 15.48 ¥

011 |7k4H EX IA'NE MY 6] 1[ooF—xESHk 1.30 m_[ZEMEBK 3.98 m

012 |0 RIEE 08 LYY 5] 1|7 E—X|ioom szon 15.63 7

013 |# E3 1Y YR4h 5] 1|8 100m SEOH 15.66 >

014 |#&H $h V4 4909 6| 1[{EE E =Bk 1.20 m

015 [/ 15 N4 Lt 5 1[/\E 100m SEME 15.74

016 |{k@k RE3l ¥ ghb 6] 1[@rzn 4x100mR 56.63 # | 1|70

017 [#XK FEFN 91 Jagk 6| 1[mI%0 4 x100mR 56.63 # | 2[al&0

018 [iffE Tk vk Ay 6] 1]=7%n 4x100mR 56.63 ¥ | 3|aT&0

019 [=1E XA# ahny eat 6] 1[aT%0 4 x100mR 56.63 ¥ | 4|@T%0

020 |=3E KH 397 4414 5] 1[@r4n Toom SEOH 15.79

021 |HE IER VR EAL 6] 1[5 4 x100mR 57.40 # | 1[5EH

022 | EH #2 EVECEYE S 6] 1|88 4x100mR 57.40 # | 2[%85

023 [[HE &4 Ahy 9% 6] 1[5 4 x100mR 57.40 # | 3[FEH

024 |#HFT HF T8 14y 6] 1|88 4x100mR 57.40 # | 4[F%85

025 | =X VY3 F14 6] 1|TFEE T00m 6E0H 1413 # [4x 100mR 5812 ¥ | 4[FE

026 [FEAR HIR 3VEM Y 6| 1|FE 4x100mR 5812 ¥ | 1|°FE

027 [ X= PRIV 6] 1[FE 4 x100mR 58.12 # | 2[F B

028 [#ift F2Z Ivh7 ¥A1% 6| 1FEE 4 x100mR 58.12 ¥ | 3|FEE

029 [Jllim EEH h9nN g ant4 6] 1= 80mH3FE 14.77 #

030 |#H% &3l 1/ 49k 6| 1|5 JIR - 60.79 m

031 |55 = ¥) 2% 6] 1[f8iE 4 x100mR 58.07 # | 1|%&iE
032 [iffE EiE WKL 6| 1[f&E 4x100mR 58.07 # | 2|#&iE
033 [BERX B = H3YA H4YY 6| 1[f&E 4 x100mR 58.07 # | 3[{EE

034 |IA Fz ThEb Y 6| 1|#EiE 4x100mR 58.07 # | 4|@&E
035 [his Bt Th=y Iv% 6] 1[48E JINE —LARIF 64.29 m

036 |y E— Th=Y Yu4F 5| 1|%&iE VI - 60.31 m

037 |#=E H MY 74 6| 1[IB# 80mHE 14.08 ¥>

038 |ifmE Kih kY 547 6] 1|3FF  |8OmHZE 14.44 ¥

039 [fERE & NEH LY 6] 1|[3FF1L  |8OmHE 15.53 ¥

040 |l {3k 33YV Yany 6] 1[3FF11  |8OmHFE 15.57 ¥

041 |KH HEz 444 bea% 6] 1]BEm = Bk 1.15 m

042 |XH FEZN ¥4 Y19/R% 6] 1|=Hk T8 110 m

043 [tEIR #EFE hyng 773 6] 1[FRSK [t-rizs 74.96 m

044 [FK E— THE Yauy AIRIEES = i Bk 446 m

045 [ALL FHth havyv 73% 6| 1|#E8 EE Bk 4.38 m

046 [ER Eth 9INg h4¥ 6] 1Kk 7 i Bk 4.05 m

047 |&4 g hre S 6] 1|Xx I —IARIT 65.75 m

048 AR Ei v b0y 6| 1|=3 VI - ARIT 63.53 m

049 |HIF =X 1749% Va4 6] 1[H#TLS 4 x100mR 57.93 # | 1|A&TLZ
050 |@kMH £ I8 YavRh 6] 1|&TLZ 4 x100mR 57.93 # | 2|4TLZ
051 |X&EB B YA S 6] 1|&ETLC 4x100mR 5793 # | 3|HTLZ
052 |EH {Ci8 THAIVTh 6] 1|&ZTLZ 4 x100mR 57.93 # | 4|&TLS
053 [#l X ¥¥Y Yn4 6| 1|E 4x100mR 57.98 # | 1[E1L

054 |8 F— YF¥ vavdF 6| 1= 4 x100mR 57.98 # | 2|EWl

055 ¥l th#t Ja¥v 19% 6] 1[E 4 x100mR 57.98 ¥ | 3|=l

056 |BlR IH4E $Ing 3% 6| 1= 4 x100mR 57.98 # | 4|EWL

057 |7R# ThE 7hyy A% 6] 1[wBitEH|SOMHFE 14.40 ¥

058 |BA D 1Y%= 130 5[ 1[p®HYL Jioom szom 15.30 # [4 x100mR 58.20 ¥ | 4|pHYLA
059 [F& BE YE4Z 7HED 6] 1/ &HYL |ioom exom 14.10 # [4 X 100mR 5820 ¥ | 1[P&HYLA
060 |HF % ERYng 4% 6] 1|p&HYL |ioom sxon 14.80 # [4 x100mR 59.00 ¥ | 1|p®HYLB
061 [#EIE 15 EEZ D) 6] 1[pHYL |80mHZE 14.50 ¥ [4 X 100mR 59.00 # | 3|K&HY<B
062 [k FHE VN FUYY 5| 1lp&HYL 4x100mR 58.20 ¥ | 2|rp®HYLA
063 |hAKX #4E VEh 71% 6] 1/pHYUL 4 %x100mR 58.20 ¥ | 3[P&HYLKA
064 [FO —% 735F WA | 6] 1|yl 4 x100mR 58.20 ¥ | 5|p®HYLA
065 |#E[R KEE Y97 4444 6] 1/pHYUL 4 x100mR 59.00 ¥ | 2[rp&HY<B
066 |t&)Il BAS 3357 TEYY 6] 1lp&HYL 4 x100mR 59.00 ¥ | 4|rp®HY<B
067 [FIER FEAER 7A 2409 5| 1]@EHh<—]100m sxom 15.00 ¥ |4 x 100mR 5850 ¥ | 2|@Ehv—A
068 |#R =i NED7 493 6] 1|FEA<— 4 x100mR 58.50 ¥ | 1|¢&H=—A
069 [X&Ep = YA 714 6] 1]@FEh<— 4 x 100mR 58.50 # | 3[@shv—A




070 |Ex E YHh 7YY 6] 1[FEA<— 4 x100mR 58.50 ¥ | 4[¢&n<—A
071 [E& & h74 ahy 6| 1|FEh~—|ES Bk 110 m

072 liA skixE Yv5'F b9 6] 1|xEsu—]80mHZE 15.80 ¥ |ESH m

073 [FE&A *t& $hEh a9% 6| 1|xE5u—]80mHZE 16.10 ¥ |[ESH m

074 [l —#§ wRY hA'E 5] 1]xESY—]i00m szom 15.10

075 [XK& #— A145= JJAR 6| 1[xiEsu— uork-nigis 5457 m

076 [iEFR &t vy Iy 6| 1|xEsy—|mk-nizs 4379 m

077 _|&tE & LhI LY 5] 1|wEEs57 [ioom szom 15.10 # [4 X 100mR 59.90 ¥ | 1[ummEss7A
078 |¥fk #E Srth hA'R 6] 1|wulEsS57 4%x100mR 59.90 #) | 2|wm@s5Ia
079 [/MiE 1B any ¥ 6] 1|wsEsso 4 x 100mR 5990 ¥ | 3|ummEssa
080 [/ ME 8 Ny nlb 6| 1|usmEs57 4 x100mR 59.90 ¥ | 4|ummss7a
081 |:B%H Kl 3/ 440 5] 1|wesmEsST fioom szom 15.20

082 [AXH FEAM 114 Yanay 6| 1|lusEssT|ESBk 115 m

083 [Blg &HX M bEED 6| 1|wsEsST [yr-rizis 51.65 m

084 [LU¥F EEFE ¥v/ a9a{ 6] 1[nEsS57 [ioom exom 14.10 #

085 |MH™ {= dh vy 6] 1[wntEs57 [100m exom 14.40 7

086 [# XH Ny 44n 6| 1|nES5T |100m exom 14.80 #

087 |l &2 THYVY Ivat 6] 1|nEs57|80mHE 14.40 F»

088 |ZHIL Mz 7HYY w1 | 6] 1|eness7|ES B 1.00 m

089 |[B S4% N a9t4 6| 1|leness7|ENEk 3.75 m

090 |HAKX Rt IYER FEE 6| 1| Es57 -y 49.94 m

091 [N %% A59F a1y 6| 1|EmiEczs57]i0om exom 14.70 ¥ [ZEEEK 3.95 m

092 BN [BH 4342 )agh” 6| 1[=mmirzs57]80mHFE 15.90 7

093 [/\IB BE= L EV A 6| 1|mmzcEssofyork-nigF 5257 m

094 |FR #X {73 19% 6| 1|aHEIST|ESE 110 m

095 [/ &K anyy 194 6| 1|=R/557|EIEBE 3.89 m

096 & ZHER 3E% Foyan 5| 1|EA&HF5T|ioom sxon 1410 7 [4x100mR][  100.20 # | 4|exs37c
097 |§F @3 133y h4k 6| 1|BAY3T|ENERk 360 m [4x100mR 58.60 ¥ | 2[2x457A
098 |58 Fik 147 Faux 5| 1|BAoST|EEB 359 m [4x100mR[ 10020 # | 2[@xs37c
099 [#BAR RER N/ER 5907 6] 1[BAHST|w-riis 4430 m |4x100mR| 100.20 # | 3[B&%57c
100 [HH B 174 3v1% 6| 1|Ba957 4x100mR 58.60 ) | 1|2x457A
101 [ KE & AAnz 19 6] 1|BAH57 4x100mR 58.60 # | 3[Bx457A
102 |7 FREH Y% EN7E 6| 1|Bx957 4x100mR 58.60 ¥ | 4|2x4557A
103 [ [ LVAKEYH 5| 1|BAYST 4Xx100mR 100.20 # | 1[B&xs57¢c
104 |&HfE KiE Ivth 54% 5| 1|BAoST|EEB 3.58 m

105 [HR& #HE 155°- 19% 6] 1|X&EHS5T|10om ex0n 14.81 ) [ZEIEBE 412 m

106 |[=H BEiE Y4 r4% 6| 1[XKEHSIor-rigif 38.10 m

107 |[=H HiE Y4 hER 6| 1[XRiEHS5Tore-rigif 24.10 m

108 [l ¥0¥v 19 5| 1|Exkms57 4x100mR| 10558 7 | 1]tkms57A
109 |[EH ## SV R 5] 1|ExmsS7 4x100mR| 10558 ¥ | 2|tkms57A
110 [#R& FEF 198 = Jagaq | 5[ 1|EkEH5T 4x100mR]| 10558 ¥ | 3|tkms57a
11 |[Fk 8% IhYE 19% 5| 1|Exkms57 4x100mR| 10558 ¥ | 4|tkms57A
112 |R%E &E R 5| 1|Exmos7lk-nizs 3750 m

113 |EE k& ThE bEE 6| 1|AEHST |10om ezom 15.17 ¥ |4 x 100mR]|  103.82 # | 4[&A#HH5D
114 |RZBE B THA Y1y 6] 1|AHS5T |oom exon 1519 7 [4x100mR]| 103.82 # | 3|A#H5T
115 (AR HE —VEh U 6] 1|AttHST]ioom ezom 15.60 ¥ [4x100mR]| 103.82 # | 2[A#H5T
R = Y¥o'F Yaox 6| 1|AHST 4x100mR| 10382 # | 1|Ats5T
117 _|FE & Sz LW 5] 1|Axm557 |1oom szon 15.56 ¥ |ZENEE 3.59 m

118 [ithEH £k 175 K424 6| 1|xx@s57 [ioom exon 15.44 ¥ |EIEE 4.00 m

119 [FBE &g 7 Vit 5] 1|xkms57 [ioom szom 16.29

120 [AR &% Fuv 9% 6] 1|ZHESST|80mHTE 12.82 ¥

121 [#hH % 155" Y39 6] 1[ewsa=7rrr|SOmMHZE 14.55 # |4 x 100mR 58.93 ¥ | 4[zmura=7a
122 ;R X EERSY D) 5] 1]#wsa=7eet [room szon 1494 # [4x100mR 58.93 ¥ | 3|#wra=7a
123 |&FA FFH TY9F Yay 5] 1[#wsa=rmt [10om sxo0n 15.26 # [4x100mR]|  103.05 # | 3[zwsa=7s
124 [EXR X7 D EREVD 5] 1|mwsa=7mt |10om szon 1556 ¥ [4x100mR]|  103.05 # | 1[zwsa=7s
125 [lhA FX YY9'F Yanh 6] 1[ewsa=7wetf100m exom 14.35 ¥ |4 X 100mR 58.93 F | 2|mwusa=7a
126 | FRIF T % U | 6] 1|rwvazrer [FETERK 403 m [4x100mR| 103.05 # | 2[zwsa=7s
127 |Z=A KR VR HF Foany | 6] 1|rwsazrec [SENERE 389 m [4x100mR 58.93 0 | 1[zwsa=7a
128 [iII® i ING 713 6] 1|rwva=7er |FETERE 388 m [4x100mR| 103.05 7 | 4[zwsa=78
129 |[&Fxt FE—EH TEF T4(F09| 5] 1]ewsaz=7rrfioom sqom 16.57

130 [5.+ & 9L 7YY 6] 1|E%Jc |EiEBk 395m [4x100mR 52.35 ¥ | 1|&&JC
131 [H S Thy 4y 6] 1|AEHJIC [ioom ezom 13.70 # |4 x 100mR 52.35 ¥ | 2|&&JC
132 [IER #BA VAT Uk 6] 1|E%JCc |ESB 115 m J4X100mR 52.35 ¥ | 3|&&EJC
133 |THE HF NI 6] 1|EEHJIC |ioom exon 12.64 # [4x100mR 52.35 ) | 4|&#JC
134 [fREH #EA 115 nyb 5| 1|EEJC |ioom szon 14.07 # [4x100mR 52.35 ¥ | 5|&&kJC
135 |HFA 18E T4% 197 6] 1[zwmrrssy 4x100mR 5737 ¥ | 1|zners50
136 |FH =X SMELE] 6] 1|zmmrss7 4 x100mR 5737 # | 2|zwmetrssy
137 | MEA 43~ a4} 6| 1|zmers5o 4 x100mR 5737 ¥ | 3|znersso
138 [iTF it It h4k 6| 1|znmtsss 4 x100mR 5737 ¥ | 4|znersso
139 B ki D43A" b9 6| 1[|emerssy|ERBE 3.66 m

140 |SH =& IVE b 6] 1|zwmtssT bR -LEH 58.59 m

141 [HF pEE 41h Yk 6] 1lphEE [SOmHTE 13.64 ¥ |100m eE0H 13.73 #

142 |FE ER b9 347 6] 1lphEE [8OmHZE 16.76 ¥

143 &Il BX Yh7 194 6] 1lphEE [8SOmHFE 16.99

144 [h¥ E# ThhZ 19% 6] 1lphEE |8SOmHZE 17.18 7




145 /NEF RIS 1/ 8434 6| 1[FEFI4IRC 4x100mR 58.81 # | 1|FEFI4IRC
146 |=3d B 197 h4t 6] 1|FEFI%IRC 4 %x100mR 58.81 # | 2[#&BI%0RC
147 /M BE PR Y 6] 1|FEBAEIRC 4 x100mR 58.81 # | 3|FEI4IRC
148 |85 AE hrsh Y93 6| 1|FEFIEIRC]7M —n i1 55.33 m |4 X 100mR 58.81 # | 4[FEBT%0RC
149 |& £E& hrth Yavk AIRIESERE FEEER 341 m

150 |[RHEH F&A] N5 ah 6| 1|FEFIIRC|ENEHE 387 m

151 | KE ThYh 447 5| 1|ZZEET0C|100m s%0n 15.41 7

152 [ 5% A3+h Y2y 6] 1[ZXERTOC|80mHFE 17.34 7

153 [iZH 27 i3 Foy 6| 1[lEEHST 4x100mR 5794 # | 1|BESSD
154 |[FAF HWE —Yh7 I3’} 6| 1|BEHST 4 x100mR 5794 ¥ | 2[BESST
155 |[== #R% RVEVH 6] 1|EEHST 4 x100mR 57.94 # | 3|EESST
156 |AH 5 198 hA'Y 6| 1[BESST ars-1iF 55.86 m |4 X 100mR 5794 ¥ | 4|EEHSST
157 |[FH BEE =4 )agk 6] 1[KEHS5T|icom exom 1415

158 |BH #B 14 _h#l 5] 1|[XK&55T]0om szom 15.21 #

159 |F9H hkth R DA 5] 1|agocss7 4%x100mR 59.65 # | 1[[FTD
160 [H=E HF TUU S aua 4] 6] 1|Egocssv 4 x100mR 59.65 ¥ | 2|IFF D
161 [Fill X Th¥v Yans 5] 1|agocss7 4%x100mR 59.65 # | 3|[FT D
162 | K\ 5= A44Y 4ha% 6| 1|Evocs57 |k -viiF 64.82 m |4 x 100mR 59.65 ¥ | 4lizgT D
163 [AX 2 FISELI 5| 1|5 FHERC|i0om szom 15.07 #

164 |[3E BA 1%/ hos 6] 1[BkEFDK [EMEEk 3.95 m

165 |Afk EEHE Yy boE AECEN W T 55.93 m

166 |5 £i8 9/ Yavk 5| 1[EBAC _[100m szom 14.42

167 [@H @& thy huT 5] 1|R{BAC |ioom szon 15.26

168 [#7& AB YU8Z B4 RY 6] 1[HEIBAC [ors-nigif 55.29 m

I ETEL Tun bETE 6| 1|Em57—x|80mHE 16.29 ¥

170 | K& FEH& A45=)a9t4 | 6] 1[=8EH5T|0om sxon 14.39 7

171 | EX +Th=y % 5| 1|lr—sionx|EST B 1.00 m

172 [8K Jtig 9% FoE 6] 1[FEHZT|icom exoum 13.68

173 |FBE X8 $4b9 I4% 6| 1|Zzmea=7]10om exom 14.24 # |4 X 100mR 56.03 ¥ | 2[#m>a=7
174 |8 BEBER H45= )3 6] 1|[Eme1=7]100m exom 1450 # |4 x 100mR 56.03 ¥ | 4|lg@Ta=7
175 X #F YhES 39A1 6| 1|Z=m@>a=7 |10om exon 15.04 # [4x100mR 56.03 ) | 1|g@sa=7
176 |[FH ZEIJH N8 I 6| 1|Eme2=7]1o0om exom 14.72 # |4 X 100mR 56.03 ¥ | 3|g@ra=7
177 %R B3 htng 19k 5| 1|zmea=7|ENEBk 3.60 m

178 |t#EH HiE 334 I9% 6| 1[#2tTFCIr]i0om ezom 1502 # |4 x 100mR 59.41 # | 2[##tTFCUr
179 |/MNE HiE 193 907 6| 1|@utTFCUr 4x100mR 59.41 ¥ | 1]##TFCJr
180 [fAEH  # T3 1Y% 6] 1]##tTFCIr 4x100mR 59.41 # | 3[##TFCUr
181 |JII.E &3 h7h3 4htn 5| 1[##TFCJr|ioom szon 15.39 # [4 X 100mR 59.41 ¥ | 4|##TFCJr
182 |FrEl B Y3y YAV 5] 1@t TECIr|ioom szom 1591 # [4x100mR 59.41 # | 5[##tTFCUr
183 [#KH #& T4 1y 6] 1[#@stTFCIr]ioom exom 14.53 ¥ |ZEMZBk 458 m

184 (RO $4 £5°F hil 5] 1[ZHEAC [oom szom 15.50 # [80mHIE 17.29 ¥

185 |EH &% VeV EEULS 5| 1|E#BAC |80mHZE 19.17 #

186 =% X& Yy 447 5| 1|FHEEEL Jroom sxon 1592 # [4x100mR[ 10006 ¥ | 1[3EEELA
187 |BER = 7¥' 97 a9y | 6| 1|3EEE [8OmHFE 1473 7 [4x100mR][ 10006 # | 4|3 EEEA
188 |HH #HKX Y4 194 5| 1|HEELE FERS 396 m |4x100mR| 10006 > | 3[#*EEELA
189 |&{E ¥Amk 779 ¥9% 6| 1|FEEEL IFEIEB 352m |4x100mR| 100.06 # | 2[H#EEEA
190 [LBF f3l %I) h4F 6| 1|HEEL 4x100mR| 10245 # | 1|3 FEELB
191 |%E A hng 74k 5| 1|HEEL 4x100mR| 10245 # | 2|#FEELEB
192 |3 T34h 3IVIT 5| 1|HEEE 4x100mR| 10245 # | 3|3#FEELB
193 [fngk FE hhy HTE 6] 1|HEEL 4x100mR| 10245 # | 4|#FEELB
194 | F5F & 91/ 441/Y 6] 1|FEEL |EIED 3.05 m

195 ¥R #E {/ng )anT 5| 1[LwYKiI|icom szom 14.82

196 | Z0dE 155" 37 5| 1[EESST]oom szom 15.12 ¥ [4x100mR]| 102.89 # | 5[ERESST
197 [fef —if N 493 6| 1|ERISIor-rigi 5953 m |4x100mR| 10289 # | 4[EESST
198 |&HE R¥F IVY % a9A1 6| 1ERYZIo-rigif 5259 m |4x100mR| 102.89 # | 1[&EESST
199 |#EBk X3t Y 44k 6| 1|ERISTor-rigis 4999 m |4x100mR| 10289 # | 3[EESST
200 |Ki¥ B4 A4V 184 6| 1|ERYSIor-rigif 4897 m |4x100mR| 102.89 # | 2[&EESST
201 [FEB EK EZEVL) 5| 1|EREYST|ES Bk 1.05 m

202 |IBAR EX NER T4 6] 1[E#7o9Lx|80mHE 19.76 # |E= Bk 1.05 m

203 [KE #HE /4 453 6| 1|E#r7ox|ES Bk 120 m

204 |®= HIFE Y a9 6] 1[FE#7ILX IR -LEF 51.05 m

205 |BR X TUER 1954 6] 1[{#ml JIR - 56.20 m

206 (=1 EA ShnY nk 6| 1|#Eza2=7|100m exom 14.40 # [4x100mR 55.81 # | 1|sR>a=7
207 [£F% XF hiEy Ik 6| 1|HEC2=—7|80mHZE 13.88 7 [4 X 100mR 5581 #) | 2|#iRCa=7
208 |t —F SrER fya’( 6] 1[mRv1=7|80mHZE 1457 # [4x100mR 55.81 # | 3[R 1=7
209 |E® EEF P2y Yagadq 6| 1|lHEc—7|ESBk 120 m [4X100mR 5581 #) | 4|#RCa=7
210 |lUH ENt Y8 49JRF 6] 1|FIF FENE Bk 388 m [4x100mR 58.51 # | 1[HIERA
211 [EEwy B 4391 745 6] 1[FI& 4 x100mR 58.51 # | 4|FIEFA
212 | EH FiE I8 ETE 6] 1|FIE 4 x100mR 58.51 # | 2[HIERA
213 |FRE = 7h47 I9% 6] 1]|FIH 4 x100mR 58.51 # | 3|FIEBA
214 |A% BEF A4L5 )aaq | 6] 1[I 4 x100mR 58.51 # | 5[HIEEA
215 [#F HIE h#3 avk 6] 1[nExs=—n 4 x100mR 58.76 ¥ | 2|nr¥oz—ra
216 |JIIL.E H#H h7hs HE 6] 1|nrxse—nlrr-riziy 64.76 m |4 x 100mR 58.76 #> | 4|nrxoz—ra
217 |A+ Bt 41h TIY 6] 1|mrrs~—n|EIEHE 434 m [4x100mR 58.76 ¥> | 3|nrroz—ra
218 |IUAK 7 YYEb 299 6] 1]ntxs<—nfioom exam 1479 ¥ |4 x 100mR 58.76 ¥ | 1[ntxo<—na
219 |2l 23K ah7 v 6] 1|mrrs~—n|EEHE 462 m [4x100mR]| 10056 # | 2[ntxv=—ns




220 |/hiR — aINyy nv A 6] 1|mrxs<—n 4 x 100mR 10056 ¥ | 4ntxov—ns
221 K BT TIPS 5[ 1|nexs<—n 4X100mR| 10056 F | 1|utxoz—ns
222 A B 74 Lty 5| 1[nexs=—n 4x100mR| 10056 ¥ | 3|nt¥vz—rs
223 |HiE R Abg N4 6| 1|Em% 80mH3E 14.27 ¥ [4x100mR]| 10031 # | 2[EEEA
224 |RiI &t THI iy 6| 1|Bm 4x100mR]| 10031 # | 1|E&mRA
225 |®E =18 AV ID% 6] 1[Zm% 4x100mR| 10031 # | 3|EBEmRA
226 [FEAR [EX 43ER Y9X 6| 1B 4x100mR| 10031 # | 4|BERA
227 [A$ —hk 4Th hA'1% 6| 1|mBAEA|ERDE 413 m [4x100mR]| 10046 # | 4[ms3xsna
228 |FN BF $yh7 39937 | 6| 1|mmAsA 4x100mR| 10046 ¥ | 2|mmxsnaa
229 [JIA EFE nvx 1Y 5| 1]mBEAHE L] 0om s50m 1559 ¥ [4 x 100mR 100.46 7 | 3|mpxsna
230 |&E)I _EiE $yh7 9% 5] 1|BRASA 4x100mR| 10046 ¥ | 1|mmxsna
231 |FKR &5 TH¥ Tak 6| 1[mpAsalESDk 1.20 m

232 |FAK BF 7hE Yavn'4 | 6] 1|mBAEA|E g 52.49 m

233 |[#EAK XkH 4 9 5 1|FFEhEEL J10om sxom 14.55 ¥

234 |fE R LIh3 19% 5| 1[BA%R 100m SEOH 15.35

235 [BXK BE ah% e 5] 1|&x# 100m SEOH 15.36 7

236 AR E=iE I9E 4V% 5| 15&& 100m SEOH 15.56 %

237 |[Xik B AIM) Ya9Y 6] 1[3&& IR —NEIF 53.58 m

238 |[ZE& R 1¥74 L4 5| 1|k 100m 5EDH 15.61 #

239 |FHiE 2B Fh HEY 6] 1]k Eo 1.20 m

240 [/hiE R 7Y v 6] 1[ZXE 100m 650H 13.66 7 |EIEBE 4.88 m

241 |=EH ZE& Ry RThY 6] 1|EABE [ioom ezom 13.84

242 |NE X# 9F4 4ht 6] 1[&2LE]ioom exon 14.42

243 |BR it 333 FE/Y 6| 1])Ilm 100m 6EOH 14.77 # [80mH3E 15.18 ¥

244 |BH B2 74 3va1% 6] 1|HmE 80mHE 15.36 %

245 [/MI| &t L e WIDEVAY 6] 1[iEMA 80mHE 15.89

246 [/MIL S0 A7 L4y 5| 1|EMA = i Bk 3.82 m

247 |$H & vy HRE 6| 1[ER E S Bk 1.20 m

248 |EHHE FIE V8 hAY 6] 1|E# E =Bk 1.20 m

249 [IRE K&t I ERES 6] 1|E# VI -LiRIT 58.76 m

250 |&)II #H 1Vh7 Ay 6] 1= E =Bk 1.20 m

251 |&R #EA IV4h bk 6| 1|[EEE  |s-rizy 56.58 m

252 A %E 175 197 6| 1A VIR - 54.44 m

001 |[fxx A% E)EN VT 6] 2|OJAC [ioom ezom 14.16 # [4 x100mR 5521 # | 2|0JAC A
002 &% A& 7%/ 14 6] 2|]OJAC [ioom ezom 14.44 7 [4x100mR 58.32 # | 4|O0JAC B
003 [KF ZBE /98 1)F 6] 2[OJAC Jioom exom 14.53 # |4 X 100mR 55.21 # | 3|OJAC A
004 |EH B NAA L/ 6] 2|OJAC |ioom ezon 1458 # [4x100mR 5521 # | 1]OJAC A
005 [#81% kit 13%% £2h 6] 2|OJAC |8OmHZE 13.43 ¥ [4 X 100mR 55.21 # | 4[0JAC A
006 |&& &HE 1374 70F 6] 2|OJAC 4 x100mR 5521 # | 5|0JAC A
007 |ffHE ES L34 713 6] 2|OJAC 4 %x100mR 58.32 # | 1[O0JAC B
008 [=K #&E % 1948 6] 2[0JAC 4 x100mR 58.32 # | 2|0JAC B
009 |"M=-# K& 14 b3 6] 2|OJAC 4 x100mR 58.32 # | 3[0JAC B
010 [EXR ¥t U8 7Y/ 5| 2|OJAC [|ioom s&om 15.82 ¥ |ZEMZBk 3.67 m

011 |RE E= AING IF 5] 2|OJAC  |ioom szom 15.36 7

012 [EH EH HkE! 5| 2[O0JAC  [ioom szom 15.71

013 [HH X 194 $93 5| 2|OJAC [ioom szom 15.86

014 |#8 FE 9Iv% F1Y 6] 2|OJAC [8OmHZE 14.58 7

015 |fifn ARZFE 7% 3/1 5] 2[oJAC  [8OmH3E 17.11 #

016 |dvim 3815 £497 VY 6] 2[O0JAC [|EEBk 1.20 m

017 [#4KR EX hyEh 73 6| 2|0JAC  |EiERk 3.69 m

018 |FaEF &7t —Y)7Xh 5| 2[O0JAC |EmEBk 3.45 m

019 [BEFE % M4 47 6] 2[IF 4x100mR| 10108 ¥ | 1;IF
020 |BEIE A0 797 7%h 6] 2iIF 4x100mR| 101.08 # | 2[iIF

021 [;a[| =38 hing 1+ 6] 2[IF 4x100mR]| 101.08 # | 3[;IF

022 |Faft ZFE =YL L3 6] 2iIF 4x100mR| 101.08 # | 4iIF

023 |HKE HEX w7 13 6| 2|#HE I —IARIT 50.52 m

024 |[RH &EXE N8 354 6] 2[/\E 7 i Bk 343 m

025 |&®H F&H Y24 3% 6] 2[=T%n 80mHzE 15.30

026 |5H #% bY4 Hik 5| 2|=T%n 80mHE 16.56 ¥

027 |8k W= ARF IUn 5] 2[3%ER 100m 5ENOH 15.56

028 | Kl i %Y Vak 5| 2|EEMA 100m SEOH 15.81

029 |HF S35Hh 41h 79h 6| 2|& 100m 6EDH 14.65 §

030 |RHE =# ELg +1 6] 2|5 I - 53.09 m

031 =k BR IV XTh 6| 2[#EE 100m 6EOH 14.80 # |4 x 100mR 58.14 ¥ | 4[BE

032 [/hvik FITE anyy Yuh 6| 2|f&iE 4%x100mR 58.14 0 | 1|#8iE
033 [MHA % Ah4 73 6| 2|tEE 4 x100mR 58.14 ¥ | 2[$EE
034 [&X = 19% 483 6| 2|tEiE 4 x100mR 58.14 ¥ | 3|f&iE

035 [ALlL BE 2%3 U1T 6] 2[nEiE 80mHE 16.88 7

036 [E=H = 174 $1 6| 2[R E =Bk 1.05 m

037 [&BM F£& 1€ Fh 6] 2[[Em IR —NRIF 59.34 m

038 [I—& %A Y1k 6] 2|=k E= Bk 1.05 m

039 [FAE MRE +U1) 13 6| 2|=fk EHE Bk 351 m

040 [RF Z# 153 +% 6] 2|hi—iD |ESBE 128 m [4x100mR]| 101.16 # | 4[FiL—1D
041 |8JIl & YIh7 nLVR 6] 2{d—iD |ESBE 1.05m [4x100mR 101.16 # | 3[sFu—i»
042 [fAIE 3 h7h3 744 6] 2|fh—iD |ZEDEBE 411 m [4x100mR]| 101.16 & | 2[FiLi—1




043 [#BR XH NFY 33 6] 2{d—iD» 4x100mR| 101.16 # | 1[shl—iD
044 |BfF BEE HORS I 5| 2[ERSK |E=Bk 1.10 m

045 |515 BE Shny nLh 6] 2[FRSK [ars-rgif 48.68 m

046 |BH H=& 1YL T 6] 2[FEF VI - 63.02 m

047 |ERE m% IV%h ik 6] 2|=l 4 x100mR 59.59 ) | 1|=l

048 |FEH EH V4 1ty 6] 2[E1l 4 x100mR 59.59 # | 2[Z1l

049 [BH HRE Yh4 153 6] 2[=l 4x100mR 59.59 ) | 3|=l

050 |Fm &ZF NN MRS 6] 2[E1l 4 x100mR 59.59 # | 4[=F 1L

051 |deili EHEE $4%%_an 6] 2|zt EB|8OmMHZE 16.00 7 [4x100mR]| 10070 # | 2[wsizma
052 |fFEE 5 by 7X% 6] 2[uBitEH|SOMHFE 16.70 # [4x100mR]| 10070 # | 3[wumitzma
053 [#iE EF=x 418 193 6] 2[uBitER|BOMHFE 17.00 7 [4x100mR]| 10070 # | 1[usizma
054 |E T AFEHE Y8 7L 6] 2[lLpitER 4x100mR[  100.70 ¥ | 4[wusttsa
055 [&FX k= TJAI £ 6] 2|lLmsltERE 4x100mR|  103.60 # | 1|wmstiE#c
056 |/hE HEXx 1Y A3 6| 2{uppdLER 4Xx100mR|  103.60 # | 2|wmsitEsEc
057 |AH E® 114 3F 6] 2|lumpltEE 4x100mR]|  103.60 ) | 3|wmsiiEsc
058 |/NEFE [ A% =3 6] 2| LmgdtEsE 4x100mR|  103.60 ¥ | 4|wmskEsmc
059 |k B&F Thh'I34h 6] 2|mpdtEmg s -z 3141 m

060 [A4E i #va') #ik 5| 2[sHYL [room szom 15.30 #

061 |8 #F hs= % 6] 2|pHYL |8OmHZE 16.10 7

062 [fiK W ARE UY 6] 2(pHYL |EEBE 3.46 m

063 4@ = X HY 6| 2|FEA~—|ESH 120 m [4X100mR| 10410 7 | 4[#&sh<—A
064 |4%EH K8 L] 6| 2[Eh<—rE-1s 4888 m |4X100mR 104.10 # | 3|#&sh<—A
065 |t ZF hoy 74Y 6| 2[@EEh~— 4x100mR| 10410 # | 1|#&@h<—A
066 |&=A& FHi IVE 279Y 6| 2|FHH<— 4x100mR| 104.10 # | 2|#&h<—A
067 [HH E NV hY 6| 2|Fih~—|EIEBk 3.09 m

068 |/NFFIE B3I A/9h 13 6| 2|&EJ— |ioom exom 14.70 7 [80OmH3E 16.30 7

069 |ME —%F Wi hA'% 6] 2{wgEsS57 [ioom exom 15.00 ¥

070 |/MN¥ BE */ nVh 5| 2[#nEs57|100m sE0m 15.20 #»

071 |AIAR kM IWE 24 6] 2[#nE557]80mHE 15.90 ¥

072 [5FR B 417 39 5] 2[@mizrzs57]i0om sEom 1550 ¥ [ZEESB 1.20 m

073 |®KXKX #¥AH SrEh hV'E 6| 2|mmrcassy|ESBE 1.05 m

074 [WE Fixf Wi % 6] 2[mmczsso]ENRRK 3.35 m

075 [A& FhE h4 F/h 6| 2|mmizczsso|ENERK 316 m

076 [ILA HFF YYEL ML 6| 2|mmicEssI|yank-LEF 31.43 m

077 _[BR TEE $3L% ht 6] 2(HR*EHS5TI|icom exom 14.20 ¥ [y7bE—1ig1F 53.24 m

078 |EElE &HI-TE 7Y17 7=h 5| 2|FE#EY ST |ioom sxom 15.70 #

079 [RR FE 990NG AR % 6| 2|=F/5ST|ESH 1.02 m_[y7bE -0 ig1F 40.73 m

080 [HE 85 hsth 7as 6| 2|=RI5T|ES B 1.05 m

081 [KE FEE ting ¥avh 6] 2|BAHS5T|oom exon 14.60 7 [4 x100mR 58.30 0 | 4|2x457A
082 (¥ =& Th) 719 6] 2[BAH5T|icom exoum 15.00 # [4 x 100mR 58.30 # | 3[B2xv5TA
083 |F#R =i= 4 V% 6] 2855 T]ioom exom 15.00 # [4 x100mR 58.30 ) | 2|2x457A
084 |Ex BEXE aby Fus 6| 2895 |ESBk 1.02m [4x100mR| 103.00 # | 2[exs3578
085 [tE 3K % 334 6| 2(B8AHS5T|EmEB 351 m [4x100mR[ 103.00 # | 1][2x%578
086 |=1F %A 13 1% 6| 2[BAYSTor-rigi 3578 m |4x100mR]| 103.00 # | 3|2&x457B
087 |IUKR HBHE YYER 295 6] 2|BAHS5T 4 x100mR 58.30 # | 1[B&X%357A
088 |HHE BK 4+h 14 6| 2|BAH5T 4x100mR| 103.00 # | 4|2xv57B
089 |HH HH 15 19% 5] 2@ AH5T]ioom sxom 15.50

090 |l = 7YY $9% 6| 28957 |EER 3.19 m

091 /iR Z=R anyy i1 5] 2|F E5S5T|ioom szom 15.60 7

092 |¥EER EiE NS 6| 2|fnxxs57 4x100mR|  102.40 # | 1|mxxs57
093 |FHZE A 94h 9% 6] 2|fmxzs57 4x100mR|  102.40 # | 2|mxzs359
094 [BE Fig vV % 6| 2lfmx=xs57 4Xx100mR| 10240 # | 3|fxFs357
095 [#H &5 ZyA 3Rk 6] 2[mxzs57 4x100mR|  102.40 # | 4|mxzs357
096 [LUA ¥ Y4 EAl 6| 2Ky I|ES B 1.05m |4x100mR| 10346 # | 4[x=z5578
097 | BK BZE AVER YT 6| 2|XEHST|arw-aimis 36.38 m |4x100mR| 103.46 # | 2[x25578
098 |[XiEH W=x e T 6| 2|FKEFEHSTork-uiziF 3396 m |4X100mR 103.46 ¥ | 1[x=29578
099 |EAR #30 IYER 1 6| 2|xX#EH5T 4x100mR]| 103.46 ' | 3|xzs578B
100 [{¥H Z&h A3% aM/ 6| 2Ky |ES B 1.20 m _|FENE Bk 3.45 m

101 |[£H ¥EF h#% #13 5| 2|Xi#55T|80mHFE 17.83 7

102 |58 B {34y hik 5| 2[X#E557|80mHFE 19.08 7

103 _|KTF TEE /98 ht 5| 2|xX#55T|80mHFE 21.46 ¥

104 |BEH BiE V471 5| 2|XK:ZH5I|EERE 3.63 m

105 |=H EXE va Ut 5| 2| ExmoSTar-rizis 29.42 m

106 |S5H BEEE EZ S 6| 2|tkmuso [k -viiF 22.76 m

107 |l ER%F Yyt 4y 6| 2|txmosTlmk-nizs 2012 m

108 [#MiE #E Y7 197 6] 2|AtHH5T |i0om exon 14.96 # [4x100mR]|  103.03 # | 3|At#H5T
109 |[BH HiE 194 3% 6| 2|AtHST|ES B 110 m [4x100mR| 103.03 # | 4[A##557
110 [HEf #E 41h TEh 5| 2|AttH5T 4x100mR| 103.03 # | 1|A#55T
111 |l £ AF ¥ hik 5| 2|AHS5T 4x100mR| 103.03 # | 2|Atts57
112 |BE EF bEE 137 5] 2|AttH5T|8OmHIE 19.96 ¥

113 |l & A¥¥v a9h 5| 2|akm@557 [ioom szom 15.73

114 [36#% {2 Jyyr 1% 6| 2|#wuva=7er|8OMHIE 1453 ¥ |4 x 100mR 56.06 ¥ | 3|[zusa=7a
115 [#K @B TYE 73 5] 2|#wsa=7eet [1oom szom 1473 7 [4x100mR]|  100.14 # | 1[zwsa=7s
116 [ FRE = 9INg Y3 5| 2[#wsa=7mt [100m sEom 14.85 ¥ |4 x 100mR 100.14 7 | 2|#wea=7s
117 |8@BX % NEM 2F 5| 2[#uvaz7=r [10om sEom 15.38 # |[4x100mR]| 10257 # | 1[#wsa=7p




118 |l F= {Y¥¥ Ft0O 5| 2[#wsa=7rtf1oom sxam 1573 # [4x100mR]| 10257 # | 2[#wsa=7p
119 XK &BE Y 7uF 6] 2[#usa=7ietJ1oom exom 13.99 # [4x100mR 56.06 b | 4|zusa=7a
120 |AXk ¥E EY A TR 6| 2[#wsa=7mer [100m e 15.45 ) |4 x 100mR 100.14 # | 3|zwsa=7s
121 |HE #n 33t HR'Z 6] 2[#wsa=7mt [100m ex0m 15.48 ¥ |4 X 100mR 100.14 # | 4|zwea=7s
122 |HTF ZE3E 5%h 74 6] 2|ruwva=7er |[FES B 125 m |4 X100mR 56.06 7 | 1[zwoa=7a
123 [Fh)I] &3 THHI 74Y 6| 2|puva=7it |SETRHE 407 m |4x100mR 56.06 ¥ | 5[zwsa=7a
124 |JIl.E EMF h7h3 va3 6| 2[pwva=rer | ERBE 387 m [4x100mR| 10257 # | 4[zwsa=7p
125 (A BE AL 6] 2[#wsazrer 4 x100mR 56.06 ¥ | 2[#zwuva=7a
126 [FE ADY Th=y 3JY 6| 2[#wvazrmr 4x100mR| 10257 # | 3[#wsa=7o
127 (WA #m YYEF TYH 5| 2[ewsa=7ir f100m sxom 16.20

128 | K& Al AE4= 7Yh 6| 2|#wva=7rL [100m 60w 15.61 F

129 [F BT N7 YW 6] 2[pwsa=rer |FES B 1.05 m

130 /Ml EiE th'7 vz 6| 2[#wva=7it | FENRBE 391 m

131 |RZE #0a5E ALY H¥h 5| 2[wwva=7it | ENRBE 3.69 m

132 liO0 E# YT hYY 6| 2|*EEL557 f100m 6w 1581 7 [4x100mR]|  103.08 # | 4[¢xrrs57
133 |#&lL & 3%V ¥4 6| 2[xEErs>7 4x100mR|  103.08 ¥ | 1|x=rrs57
134 [#iR BHXE VUit 6| 2|xEmrs57 4x100mR|  103.08 ¥ | 2[*=its55
135 |HHF Hib=E ATE3 7H3 6| 2[xEmrssy 4Xx100mR|  103.08 # | 3|*krery57
136 [h¥t &F ThhF 743 6] 2|&%JC |8OmHIE 16.32 7 [4x100mR]| 10044 # | 1][&%%JC
137 B #F DaFA 3 5| 2|&EEJC [ioom szom 14.76 ¥ [4x100mR]| 10044 # | 2[&&JC
138 |EA #= 1hEh ¥ 6] 2|EEJC 4x100mR]| 10044 # | 3|&&JC
139 [FLE BE EZ R 6] 2|EEJIC [ioom ezom 14.45 ¥ |4 x 100mR 100.44 ¥ | 4[E#JC
140 [{¥E % A3 )T 6] 2|E%JC |EiEBE 374 m

141 |[EH T Y8 hA'% 6| 2|E#JIC |ioom ezxom 15.49 ¥

142 O 8K VEKL 6| 2|EEJC |rk-nige 4782 m

143 [/MERSF AR J187%Y Mh 5| 2|&EEJC [ioom szom 16.06 >

144 |EH HE N EU)] 6] 2|E%HJIC |ESBk 1.25 m

145 [HH #E EZ R 5| 2zmersso 4Xx100mR 102.23 ¥ | 1[zners50
146 |FH BHEF 74 EFa 6| 2|zwrrs57]i0om exam 15.14 ¥ |4 X 100mR 102.23 # 2|t rs57
147 |FEXK ¥ T 7% 6| 2|zwmErs57 [100m erom 1558 ¥ |4 x 100mR]|  102.23 > | 3[znmrsso
148 |/l BEF 1Yh7 Yha 6| 2|znmrsso 4 x100mR 102.23 # | 4|zners57
149 [HHF IFE 44 Y71 6| 2|zwmrss7lur-nizis 3729 m |4 x100mR 102.23 # 5lzmErs5o
150 |1 EH 493 Fik 6| 2[zmErs57|80mHE 20.74 #

151 (Al 3 ha¥v 713 6] 2|HpHhEE |SOmHIE 18.24

152 [S% %gr ahny 31 6] 2| = |EIEBE 3.63 m

153 |ihEH —I 1558 451 5| 2|FEFI%IRC 4x100mR]| 10161 # | 1|FEM4%IRC
154 |FiE T b HA % 6] 2|FEBAEIRC 4x100mR|  101.61 # | 2|FERI%IRC
155 |RE E=E 1V I3 5 2|FRIEIRC]i0om sx0m 15.50 ¥ [4x100mR]| 101.61 # | 3[FEFIZIRC
156 [=&F #8 37 kAl 6] 2|FERI%IRC 4x100mR| 101.61 ¥ | 4|FEFI%IRC
157 [IUT ZfE YIV8 744 5| 2[lEEHST]0om szom 16.02 7

I ETTERES hr ¥ ht 6] 2|ESST|arr-ris 44.21 m

159 |=%= B Yy Un 6] 2|Kgv357 4x100mR| 10195 # | 1|X&957
160 |#iE DZED YHE49 9%/ | 6] 2|Xx&957 4x100mR|  101.95 ¥ | 2|xB457
161 |FFME EHHF 4h 3% 6] 2|[xE957 4x100mR| 101.95 ¥ | 3[X&4357
162 [/ BE 1/ kRS 6] 2|xX&957 4x100mR|  101.95 ¥ | 4|Xx5457
163 |IUX HE YVEM LT 6| 2|zvocsso|ENBEE 3.83 m

164 [EE 1D 794 130 5| 2|7 FHERC|ioom sz 14.62 ¥ [V —1ig1F 46.08 m

165 |[=ih 2 Yy Btk 5] 2[BREFDK [8OmH3E 18.60 ¥

166 [K:Z 0 A I#HT HuE 6] 2|nszomrssy 4x100mR|  101.92 ) | 1[pezorrss7
167 [lLO ®BZE Yv7F LT 6] 2[peromrssy 4x100mR|  101.92 # | 2[|rezorrssv
168 (=% £& RVEED) 6] 2|nszomrssy 4x100mR|  101.92 § | 3[pezorrss7
169 |[ElF IBEF 14+ 13 6| 2|pezorrssy 4x100mR 101.92 4lresorrsso
170 [#E57 B8 %/ 5V 6| 2[pezomrssy | FEMRBE 341 m

INIEEEES N4 73 5| 2|pezorrssy lyark-nizis 35.94 m

172 _|IME =R any 1+ 6] 2|hEMC 4 x100mR 59.98 # | 1[dEMC
173 [Bf0O0 % I9F hot 6] 2|EMC 4 x100mR 59.98 ) | 2|fhEMC
174 |55 FiE NIYE )T 6] 2[dhFEMC 4 x100mR 59.98 # | 3[dEMC
175 [IX B5E YEL 1Y) 6] 2[EMC 4 x100mR 59.98 ¥ | 4[FhEMC
176 [Fast Bd VL7 VT 5| 2[EEMC Jioom s#om 15.68 #

177 _[Bl HF {Y¥Y 713 6| 2|z r—x[it-riir 4234 m

178 |/N#k b3 vy 4y 6] 2|[EHST [ioom ezom 15.56 # |8OmHE 16.58

179 |RBF ¥E Y/ 7¥h 6| 2|=w@y3I|EERk 357 m

180 |[¥H EBFE 994" 19h 6| 2|=m@>a=7 |ioom exon 1454 7 [4x100mR]|  101.14 # | 4|z@sa=7a
181 |=F K ET RS 6| 2|%M>a—7 [100m e&n 1485 ¥ [4x100mR[ 101.14 ¥ | 2[zmza=7a
182 |4 #kE h74 2T 6| 2|gmva=7 4x100mR|  101.14 # | 1|zmsa=7a
IR EEIEXES 15 33 6] 2lzmoa=7 4Xx100mR| 101.14 # | 3|#@sa=7aA
184 |/NFE {B1E 1=y a9k 5| 2|Em@>a=7 |10om sxon 16.18 7

185 |3&)l ER A3HhT WE 5| 2|Emea=7100m sxom 16.31

186 |3EH thK 904 14 5| 2|Zzmea=7]i0om szom 16.46

187 [ =¥ % 743 6| 2|#ttTFCIr|100m sxnm 14.95 # |4 X 100mR 57.55 # 2|#4TFCIrA
188 [;kH & Ths A3 6| 2|@#tTECIr|ioom sxom 15.60 7 [4 X 100mR 57.55 # | 3|wutTrcara
189 |IUF Z& ¥4 140 6| 2[##tTFCIr|100m 650 15.64 ¥ |4 x 100mR 102.04 # | 2|##tTFCJrB
190 |8 = ¥/ 1 5| 2[##TFCJr|ioom szon 1556 7 [4x100mR]|  102.08 # | 2[#sttFcurc
191 |;kH EBF XZEEGY] 5] 2[#ttTFCIr|i00m sE0m 15.98 ¥ |4 x 100mR 102.08 # | 4|m#tTrcurc
192 [AEl £E VYV hTt 6| 2|@utTECI|8SOMHZE 1427 # [4x100mR 57.55 # | 4|wstTrcara




193 |l {&K&FE Thyv AUh 5] 2[#stTFCI]8OmMHTE 1917 7 [4x100mR]  102.08 # | 3[#sttFcurc
194 (XA #F Y% £E2 6| 2[wrtTrcur| BTk 348 m [|4%x100mR 57.55 # | 1[@stTFcdrA
195 | KiT B¥ 141 7Y% 5| 2|##TFCJr 4x100mR]| 10204 # | 1|@#TFCB
196 |F&FIR K E¥h bET 6| 2[@watTFCIr 4x100mR[  102.04 ¥ | 3[w#tTFciB
197 |[RE &1t NIt 29h 6| 2[#m#tTECUr 4x100mR 102.04 # | 4|witTFcurs
198 |;’kH # Th'43am 5] 2[##TFCUr 4x100mR][  102.08 # | 1[w#t1Fcdrc
199 [&iL i&hn hAv< nbh 6] 2|HEREL [SOmHIE 1455 # [4x100mR 59.70 ¥ | 4|HEREELE
200 [=AEA B YRI9F M 6| 2|FHEEE [SOMmHE 16.53 ¥ [4 X 100mR 59.70 # | 3[HEREEL
201 (A& {65 EY¥R 2% 6| 2|FHEEL IFESB 120 m 4 X 100mR 59.70 # | 5|HEREEE
202 [fER B 7Y"97 Uh 6| 2|FHEEEL |FEIEBE 421 m [4%x100mR 59.70 # | 2[HEREELE
203 (=5 E# %h W% 6| 2|FEEEL |FEIEB 416 m |[4X100mR 59.70 ¥ | 1|3HEREE
204 |== #in Yh 79h 5| 2|FEEEL |1oom szon 16.41 ¥ [FES Bk 1.10 m

205 [ILAR FES YYEF 7hT 5| 2|FEEEL AR 33.22 m

206 |H B hayv 3% 6| 2[ERYSI|ESR 1.32 m

207 [Mifth BR=E ¥ )it 6| 2(EEHSIor-nigi 59.60 m

208 |KlI BF A4¥¥ 19 6| 2|EEHST |yt -ninis 38.91 m

209 [RE #=% YANG ¥ 6| 2|EEHST|arw-nimis 3457 m

210 |MAE BX 714V 74T+ 6] 2[xs#7YLZ[100m exom 1547 # |4 X 100mR 100.81 ¥ | 4lzs#7unza
211 Wk R L5h3 $¥h 6] 2|Es#7oLX 4% 100mR 100.81 ¥ | 1|m#7o1za
212 (%% #F ah E1h 6] 2[E#H7ILX 4x100mR| 10081 ¥ | 2[z#791rzA
213 _[/MEH FTE 14 Fto 6] 2|Es#7oLX 4x100mR 100.81 # | 3[m#7onza
214 iR BEFE 1)% 3t 6| 2|Em% 80mHE 15.59

215 [BX ®BmE ah: LT 6| 2|mBAEA]00m 6x0m 15.41 #

216 |EE $F Th'4 7at 6| 2[BA%T = Bk 1.15 m

217 |FfT ZYh7 IVE 6| 2[BRET FENE Bk 3.52 m

218 [51E fIE Shny Jbh 6| 2[3%%& E =Bk 115 m

219 [FiLl B8 E3¥Y 74 6] 2|AE EtaBk 3.92 m

220 |=#%t # HS Nk 6] 2|&HBLS 4 x100mR 100.13 ¥ | 1[E30LzA
221 | KAR FK eV 6] 2|ZBoLE 4x100mR|  100.13 # | 2|&pLsa
222 [EE K& Iv4h % 6] 2|&HBLS 4 x100mR 100.13 ¥ | 3[mvLzA
223 |AF v /989y 6| 2|&ROLEE]0om sxon 15.05 7 [4x100mR[  100.13 # | 4|&pwoeza
224 (R ERE TUNTY 3k 6| 2[JllE 4x100mR][  102.05 # | 2[JIl@A
225 @I BA thy'% I 6] 2|)IlE To0m 6EOH 15.26 ¥ [4x100mR]|  102.05 # | 4[JII@A
226 |ffEA & L7923y 6] 2[Jllm 4Xx100mR 102.05 # | 1]JIIE@A
227 [{RE 87 Luh 5| 2|)IlE Toom SEOH 15.64 7 [4x100mR][  102.05 # | 3[JIIEA
228 |[BiE B HE N 6] 2|HE Toom 6EOH 15.46 ¥ |[ZEMERE 3.66 m

229 |FH BE 915 nLT 6] 2[IEMA 100m 6FOH 15.29 # [4x100mR]| 101.85 # | 4|:EMEB
230 |SEE S ah7Y 71t 6| 2[IEM 4x100mR| 101.85 # | 1|[:EMAB
231 _|A%| BHRE 9) A% 6] 2|IFMA 4x100mR| 101.85 # | 2[EEHEB
232 [T ZEFi YENY T4 6] 2[EEM 4x100mR]| 101.85 # | 3[EMEB
233 |FiE BER 7hnz L3t 6] 2|EXR VI - RIF 44.05 m

234 [EX FiE ) 6] 2[HE 80mHzE 15.39 # [4x100mR]| 10257 # | 1|E&HA
235 [Efh HF 9Ith )3 6] 2|H 4x100mR| 10257 # | 2|EHRA
236 |thE #BAH P EY 6] 2|E 80mHZE 16.76 ¥ |4 x 100mR]| 10257 # | 3[EHA
237 _|FH FH E34 ht 6] 2|Ei 4x100mR| 10257 # | 4|EHRA
238 [EXk #ESH Rer kL 6] 2|E3 4x100mR][ 10257 # | 5[EiHA
239 |&E AR 747 M3 5] 2B Toom SEOH 15.24 7

240 |BH ¥ 199 7%/ 5] 2|HEH T00m 5EOH 16.05

241 |BE 4371 3v'% 6] 2|Ei 80mHE 16.29 7

242 [;xHA #ERE Th's a%h 6] 2[HE E g Bk 3.70 m

243 [=8F BATE EPESY) 6] 2|HE3 IR - 41.82 m

244 |{EHE 1 7948 h1T 6| 2|EfE  |EERE 379 m |4x100mR[ 10262 ¥ | 1[ZEB&A
245 A HFE FhEr /U2 6| 2|EMA 4x100mR]| 10262 # | 2|ZREA
246 |2l HF 4007 TUh 6] 2|BEME& 4x100mR[ 10262 ¥ | 3[EREEA
247 |BE Z0OH L3Th &/h 6| 2|EME |ESBk 120 m [4x100mR| 10262 # | 4[ERE&SA
248 | KH BZ 444 714 5| 2|ER/E 4x100mR| 10262 # | 5|EREA
249 | BKX BE SR TY 6| 2|FAH YINE - LIRS 53.92 m

250 [FE[E Hhia —Vth 7ht 6] 2|FiE 4x100mR]| 10206 # | 5|#HEIST
251 |= R HEH $oU8y 313 6| 2|FE 100m 6FOH 1552 # [4x100mR]|  102.06 # | 4|&HEHIST
252 [/MI| #hEE Ah'D 1% 6| 2|#iE 4x100mR[  102.06 ¥ | 1[5HESST
253 |RIIL 5 {Vh7 k14 6| 2|FiE 4x100mR| 10206 # | 3|#HESST
254 |HI 3Ty 4Fa" 1)) 5| 2|FE 100m 5EOH 15.72 ¥ [4x100mR]|  102.06 ¥ | 2[#HESST
255 |HEF & 1)91 34 6] 2[F) 80mH3E 16.02 # [v7bv —Wig1F 3731 m

256 [HE ZE {91 A4 5[ 2[FJI 100m 5EDH 15.61 #

257 [A6)I| B —Yh7 Y 5[ 2|#{ 100m SEDH 15.82 #

258 |EH B3 4h4 €)Y 6] 2[#ik E =Bk 1.15 m

259 5 BX 9=3y 73 6] 2|miX = Bk 110 m

260 [AH X&E 9F4 731 6] 2|#ik VI - IS 37.45 m

261 =ik B IVEY avh 6] 2[dhH 80mHE 14.35 ¥ |ZEZBk 3.80 m

262 [MHE #FX Ahy 19+ 6] 2[1EH E= Bk 115 m

263 [T B £33y 13 6| 2|E48 b LB 43.76 m




